SPF Club 73

Partavling 2020-01-23

SCRATCH

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poéng % Namn MID Klubb

1 10 180.0 62.50 Anders Franson - Britt Fransson 9362 28619 Svedala BK

2 2 170.0 59.03 Wive Nilsson - Anthony Dumpleton 86397 65102 Svedala BK

3 8 167.0 57.99 Bengt Martinsson - Anita Ljunggren 13907 48683 BK Sekvens, S-torp - Svedala BK

4 5 166.0 57.64 Alice Bengtsson - Ylva Lasson 88620 30405 Svedala BK - SPF Club 73

5 1 164.0 56.94 Gunilla Johansson - Benny Johansson 26648 26649 SPF Club 73

6 6 147.0 51.04 Henny Goéransson - Magdalena Martini 86341 4449  SPF Club 73 - Svedala BK

7 11 144.0 50.00 Gertrud Nordldv - Maria Rosell 48677 48676 Svedala BK

8 14 142.0 49.31 Leif Robertsson - Maj-Britt Jonsson 43283 44149 SPF Club 73

9 13 140.0 48.61  Britt Huldt - Kristina Larsson 49104 48682 Svedala BK

10 7 133.0 46.18 Kerstin Ekblad - Birgitta Jonsson 91449 87323 Svedala BK

11 12 126.0 43.75 Gert Svensson - Goran Carlsson 83235 59257 SPF Club 73

12 9 122.0 42.36  Gun Person - Britt Louise Nordberg 60921 60915 Svedala BK

13 4 115.0 39.93 Marie-Louise Bigge - Kerstin Schmidt 6487 28597 Svedala BK - SPF Club 73

14 3 100.0 34.72 Inge Jonsson - Eva Jacobsson 66103 66102 BK Bridgehuset
1 Nord Ingen 2 Ost NS 3 Syd OV

Par Kontr Ut Res Poang Par Kontr Res Poang Par Kontr Ut Res Poang

2 5 49 S+1 vA 450 9.0 30| 8 14 4v0-1 ¢*J 50 120 00| 1 8 3NN+1 6 430 120 0.0

9 10 4v S+1 #6 450 90 30| 2 5 4vV= vlJ -420 80 40| 5 7 44 N-= 8 420 9.0 30
12 7 4vS+1 ¢A 450 90 30| 9 10 4v0O= s A -420 80 40|10 11 44 N= v2 420 9.0 3.0
13 1 4v S+1 &7 450 90 30|12 7 4v V= vJ -420 80 40| 3 6 34 N= 8 140 3.0 90

3 11 2v S+3 &6 200 20 100( 3 11 3NO+1 4 -430 30 90| 4 12 24 N+1 T 140 3.0 90

4 6 2vyS+3 6 200 20 100 4 6 3NO+1 w7 -430 30 90| 9 14 24 N+1 #8 140 3.0 90

8 14 3vS+2 ¢A 200 20 100|13 1 3NO+2 #4 -460 0.0 120(13 2 34 N= 8 140 3.0 9.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par Kontr Ut Res Poang Par Kontr Res Poang Par Kontr Ut Res Poang

3 6 3NN= 9 600 11.0 10| 5 1 34 N= ¢T 140 120 00| 4 7 24 V+1 &9 -140 11.0 10
13 2 5¢ S= v4 600 11.0 10|13 3 24 N= «A 110 100 20|13 3 34 V= vA -140 11.0 1.0

1 8 4¢ S= vQ 130 80 40| 2 9 34N-2 *T -200 40 80| 2 9 34V+l ©vA -170 8.0 40

4 12 5¢ S-1 v4 -100 40 80| 4 7 34N-2 +Q -200 40 80| 5 1 3aV+2 +A -200 50 7.0

9 14 2NN-1 &3 -100 40 80| 6 8 34N-2 v4 -200 40 8011 12 34 V+2 YA -200 50 7.0
10 11 4v S-1 *2 -100 40 80(11 12 34 N-2 LY. -200 40 80(14 10 44 V= vA -620 2.0 10.0

5 7 3NS-2 «5 -200 0.0 12.0( 14 10 34DN-1 45 -200 40 80| 6 8 44 V+l ©vA -650 0.0 120
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par Kontr Ut Res Poang Par Kontr Res Poang Par Kontr Ut Res Poang

6 2 3vyV-3 +5 300 110 10|( 7 9 3NO-3 LY 150 120 00| 6 9 3¢ S-1 v3 -50 120 0.0
14 11 2NV-3 ¢6 300 110 10( 5 8 3NO-1 45 50 90 30| 1 2 24V+2 +A -170 9.0 3.0
12 1 2v V-2 +5 200 80 40(13 4 3NV-1 2 50 90 30[13 5 24V+2 +A -170 9.0 3.0
13 4 3¢ S= vA 110 60 60| 6 2 3#0+1 aA -130 50 70| 7 3 3aV+2 +A -200 6.0 6.0

7 9 440-= +K -130 40 80(14 11 240 +2 4A -130 50 70| 8 10 44 V= +K -620 3.0 90

3 10 3« V+2 &A -150 20 100(12 1 340+2 ¢4 -150 20 10.0|12 14 44 V= ¢ A -620 3.0 90

5 8 INV+3 48 -180 0.0 120| 3 10 3ANO+1 #4 -430 0.0 120| 4 11 44 V+1 8 -650 0.0 12.0
10 Ost Alla 11 Syd Ingen 12 Vast NS

Par Kontr Ut Res Poang Par Kontr Res Poang Par Kontr Ut Res Poang

6 9 2NO-1 v6 100 11.0 10| 5 12 44 S+1 &2 450 11.0 10| 5 12 34 S+1 +7 170 11.0 10

7 3 3NO-1 8 100 11.0 10|13 6 44 S+1 &7 450 11.0 10| 8 4 24 S+2 vQ 170 11.0 1.0
12 14 2NS-3 +9 -300 80 40| 8 4 44 S= &7 420 70 50| 1 14 5vV-3 vA 150 80 40

1 2 44 0= *8 -620 6.0 60| 9 11 4v S= ¢3 420 70 50| 2 3 44N-1 +Q -100 6.0 6.0

4 11 3NV +1l #4 -630 3.0 90| 1 14 3NN-1 +4 -50 20 100| 9 11 2v V= s A -110 40 80

8 10 3ANO+1 vJ -630 30 90| 2 3 3NN-1 +6 -50 20 100| 7 10 3v V= 48 -140 2.0 10.0
13 5 3NV+2 2 -660 0.0 120| 7 10 4vS-1 &7 -50 20 100|113 6 54 N-3 vT -300 0.0 120
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par Kontr Ut Res Poang Par Kontr Res Poang Par Kontr Ut Res Poang

9 5 4y N+1 2 650 120 00(13 7 3v0O-2 &8 100 120 00| 9 12 44 O-3 v6 150 120 0.0

3 4 3NN+1 &8 630 50 70| 8 11 44 V-1 43 50 80 40(11 1 2NN= 48 120 100 2.0

6 1 3NN+1 &8 630 50 7.0(10 12 44 V-1 a2 50 80 40(10 6 2v N= ¢K 110 8.0 4.0

8 11 3NN+1 &8 630 50 70|14 2 4a4V-1 &A 50 80 40|14 3 240-1 v6 50 6.0 6.0
10 12 3NN+1 &3 630 50 70| 6 1 1laV+2 +A -140 30 90| 4 5 3NN-1 &5 -100 3.0 090
13 7 3NN+1 &3 630 50 70 9 5 24V+l 3 -140 3.0 90(13 8 INN-1 &5 -100 3.0 90
14 2 3NN+1 &3 630 50 70| 3 4 2NO+1 &2 -150 0.0 120| 7 2 3vyN-2 s A -200 0.0 12.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par Kontr Ut Res Poang Par Kontr Res Poang Par Kontr Ut Res Poang

9 12 34 0-2 v7 200 120 00| 5 6 3NO-1 *T 50 90 3.0 4 14 2NO-2 +3 100 9.0 30

4 5 26S+2 4] 130 80 40| 8 3 3NO-1 *T 50 90 30| 8 3 3NO-2 45 100 9.0 3.0
10 6 3#S+1 ¢T 130 80 40|10 1 3NO-1 *T 50 90 30(10 1 440-2 v9 100 9.0 3.0
14 3 34S+1 44 130 80 40(11 7 2vV-1 *9 50 90 30(13 9 4v0O-2 23 100 9.0 30

7 2 240-1 v7 100 3.0 90(13 9 2NO= 4] -120 40 80(12 2 4v0O-1 *2 50 40 80
11 1 340-1 v7 100 30 90| 4 14 240+2 4 -130 20 100| 5 6 1vO+1 &3 -110 1.0 11.0
13 8 24 0= v7 -110 00 120|12 2 2NO+1 v4 -150 00 120(11 7 1lvy O+1 &2 -110 1.0 11.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par Kontr Ut Res Poang Par Kontr Res Poang Par Kontr Ut Res Poang

1 3 INN+1 &A 120 100 20|12 8 3NS+2 ¢K 660 120 00| 2 4 3NN= +6 600 120 0.0

5 14 INN+1 A 120 100 20| 5 14 3NN= v3 600 100 20(|14 6 2NS+1 3 150 100 2.0
12 8 INN+1 &K 120 100 20| 1 3 2NS+2 &2 180 70 50| 7 8 24 N+1 &7 140 8.0 4.0

9 4 2vS= A 110 60 60| 6 7 2NN+2 v9 180 70 50| 1 9 26N+2 42 130 6.0 6.0

6 7 2¢ V-1 vA 100 3.0 90(11 2 2NN+1 &7 150 30 90|13 11 3a&N= +6 110 40 80
13 10 INV-1 +6 100 30 90|13 10 2NN+1 &8 150 30 90|10 5 3NN-1 +4 -100 1.0 11.0
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11 2 INN= 4 A 90 00 120| 9 4 INN+1 v7 120 0.0 120|12 3 5&4N-1 4 A -100 1.0 11.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

1 9 4¢ S-2 *A -100 120 00| 8 9 3v0O-2 LN 200 120 00| 1 4 3+¢0-1 s A 50 11.0 1.0

2 4 340+3 v6 -170 10.0 20|13 12 34 N-1 vA -100 100 20| 2 10 3¢ O-1 s A 50 11.0 1.0
12 3 54 0+1 +A -620 70 50(11 6 3vO= 45 -140 80 40| 8 9 Pass 8.0 4.0
14 6 540+1 T -620 70 50 1 4 34 N- vA -200 40 80| 3 5 1aV= A -80 50 7.0
10 5 4vV+1 48 -650 30 90| 3 5 3&4N-2 vA -200 40 80(13 12 1la V= SA -80 50 7.0
13 11 4v V+1 #Q -650 30 90(|14 7 29 0+3 4] -200 40 80|11 6 44S-2 *7 -100 1.0 11.0

7 8 4y V+2 48 -680 0.0 120| 2 10 4v O+2 +¢K -680 0.0 120|14 7 4#S-2 *7 -100 1.0 11.0
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